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KF INF [Bfi:y Sv./hl| [BfL:p Sv./hl| [BfL:y Sv./hl| [Bf:y Sv./hl| Ay 8BS | BRFES
[IEFS il ZIH Hith 0.36 0.55 0.70 - 1794 01
165X |5k ZIH Hifh 0.39 0.58 0.74 = 1794 02
EES KN =5/TF FAI7ILE 0.19 0.26 0.39 - 1703 02
168X K3 [=H Hih 0.44 0.69 0.87 - 1700 01
IEES KN =15 FAI7ILE 0.16 0.23 0.35 0.58 1748 01
1618k |[k3H)I piA=| 7 0.28 0.39 0.51 = 1747 03
IEES KN &/ avyl)—k 0.12 0.14 0.22 - 1748 02
168X |5k WARTF FAI7ILE 0.18 0.26 0.37 = 1702 01
IEES il 7NN FAI7ILE 0.19 0.35 0.50 - 1702 02
168X |5k WARTF avyy—k 0.13 0.17 0.23 = 1656 03
IEES il o yE FARAI7ILE 0.16 0.25 0.29 - 1656 01
168X K3 e alic] 1Rith 0.29 0.44 0.57 - 1701 01
IEES il A FARI7ILE 0.27 0.40 0.57 - 1748 03
168X K3 R Hih 0.44 0.59 0.73 - 1749 03
EES il [l R 0.24 0.29 0.44 - 1701 02
IEES K LR H Rith 0.26 0.35 0.46 - 1701 03
IEES il AR R 0.33 0.49 0.67 - 1747 02
168X K3 & FAI7ILE 0.17 0.24 0.36 - 1702 03
[EFS TEE FRATIR Hith 0.29 0.44 0.61 = 1605 01
IHEPS TEE FREIE Hih 0.35 0.50 0.72 - 1605 03
HEES TEE RFIR Hih 0.39 0.51 0.67 = 1695 03
IHEES TEE BFEi Hih 0.27 0.45 0.53 - 1604 03
HEES TEE PRy Hith 0.31 0.44 0.56 = 1605 02
IHEES TEE 79 3} 5 H #HRith 0.25 0.36 0.51 - 1651 01
[EFS TEE FH A 0.12 0.29 0.40 0.79 1649 03
168X TEE LR Hith 0.26 0.35 0.49 - 1604 01
HEES TEE FETEE FAI7ILE 0.19 0.32 0.41 = 1558 03
IHEPS TEE EXH #HRith 0.20 0.27 0.51 - 1651 03
HEES TEE EKTF Hith 0.30 0.33 0.55 = 1650 02
IHEES TEE atE #HRith 0.32 0.39 0.54 - 1651 02
HEES T5E af Hih 0.23 0.30 0.39 = 1696 02
IHEES TEE AF#E #HRith 0.28 0.33 0.55 - 1650 03
HEES TEE aF#& Hih 0.38 0.45 0.65 = 1696 01
165X TEE L] Rty 0.28 0.39 0.52 - 1696 03
HEES TEE mH FAI7ILE 0.17 0.23 0.31 = 1558 04
165X TEE K Rty 0.29 0.37 0.49 - 1741 03
HEES TEE e Hith 0.27 0.41 0.49 = 1604 02
165X TEE FHEE Rty 0.26 0.28 0.52 - 1695 01
HEES TEE BRFTHT Hith 0.35 0.54 0.68 = 1559 01
165X TEE J\IBIR FAI7ILE 0.21 0.27 0.46 - 1558 02
161X TEE J\I&IR Hith 0.33 0.47 0.58 1.10 1558 01
165X TEE JbKk4E Rty 0.25 0.29 0.42 - 1695 02
HEES TEE 15 Hih 0.10 0.11 0.44 0.98 1650 01
168X LM *H Hih 0.35 0.44 0.57 - 1789 03
HEES Ll TR Hih 0.26 0.34 0.45 = 1744 01
168X LU N Hih 0.33 0.45 0.64 - 1744 03
HEES Ll & ZE AT Hith 0.28 0.37 0.48 = 1790 01
168X LM £ Hith 0.32 0.43 0.55 - 1741 01
IHEES 18] F/H Eith 0.26 0.39 0.55 - 1743 01
168X Ll F/HNHI FAI7ILE 0.15 0.23 0.40 0.76 1789 04
IHEES LI F/HHI Hith 0.31 0.44 0.56 = 1789 02
IHEFS Ll /80 Lozl 0.32 0.41 0.55 - 1697 03
IHEES 18] B/F Eith 0.33 0.44 0.56 - 1742 01
168X Ll HEO Rty 0.25 0.34 0.46 - 1697 02
IHEES LI 5 1§ 0.12 0.15 0.52 0.91 1743 02
165X Ll 5T Hith 0.30 0.44 0.55 - 1743 03
IHEES LI K& ith 1§ 0.35 0.44 0.67 = 1698 01
IEES Ll FRZFH Hith 0.20 0.26 0.40 - 1922 04
165K 18]z REE Eih 0.33 0.42 0.57 - 1742 03
IEES LI &I Hih 0.33 0.47 0.59 - 1742 02
165K 18]z A4 H§ih 0.26 0.33 0.53 - 1744 02
IEES LI LS avo)—k 0.11 0.15 0.18 0.56 1922 03
IHEES 18]z sy Hifh 0.25 0.33 0.44 = 1922 01
165X Ll A3 Hith 0.22 0.25 0.36 - 1922 02
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IEES N:: it R 0.14 0.45 0.57 - 1790 03
165X  |/MEA =H Hifh 0.36 0.49 0.65 = 1791 02
IEES N:: B Hith 0.42 0.60 0.73 - 1792 01
165X  |/MEA *H Hifh 0.38 0.53 0.64 = 1745 03
[EFS N:: A H B F 0.34 0.41 0.74 - 1746 03
IEES /A % Hih 0.31 0.44 0.57 - 1792 03
IEES N:: IEXH R 0.22 0.33 0.47 - 1789 01
IEES /NH JI /3% Hih 0.28 0.42 0.55 - 1791 03
IEES /N mH R 0.30 0.43 0.54 - 1746 02
168X /N T B 0.10 0.12 0.43 0.85 1791 01
EES /N stH R 0.33 0.45 0.72 - 1790 02
168X /NH RHHE/E i 0.38 0.53 0.67 = 1792 02
[EFS /N sl B F 0.17 0.31 0.38 - 2065 01
168X /N L i 0.33 0.63 0.76 = 2065 02
EES N:: ik Hi 0.34 0.44 0.58 - 1700 03
16Ex | EBE LDOASE FAI7ILE 0.20 0.22 0.42 = 1694 03
[EFS tEE LOSE FAI7ILE 0.23 0.28 0.43 - 1694 04
165k |[EBE LOSE FAI7ILE 0.14 0.26 0.34 = 1740 02
[EFS tEE LOSE avyl)—k 0.12 0.15 0.37 - 1694 01
IIEFS tEE LDOSE avol)—k 0.11 0.27 0.40 - 1740 03
[EFS tEE LOSE Hith 0.20 0.27 0.41 0.84 1694 05
165X BB LDOSE #HRith 0.09 0.11 0.45 0.80 1694 02
[EFS tEE LOSE Hih 0.09 0.40 0.57 0.83 1740 01
IHEES tEE HER FAI7ILE 0.18 0.27 0.37 - 1557 02
HEES L5E I Hih 0.31 0.46 0.64 = 1737 01
IHEES tEE KIE FAI7ILE 0.14 0.20 0.30 - 1740 04
[EFS tEE KAE bR 0.24 0.42 0.55 = 1741 02
168X tEE EDI Hith 0.27 0.44 0.57 - 1556 03
HEES L5E E3RER] Hith 0.30 0.42 0.55 = 1738 03
165X tEE BF B 0.25 0.36 0.56 - 1556 02
HEES LBE il Hith 0.30 0.44 0.57 = 1603 01
IHEES tEE TAE Hih 0.25 0.35 0.45 - 1555 02
HEES LBE WE Hih 0.11 0.35 0.70 = 1649 01
165X LBiE ik B 0.08 0.11 0.46 0.82 1557 01
HEES L5E +=1h Hith 0.29 0.37 0.47 = 1693 02
165X tEE MER HRith 0.10 0.13 0.44 0.65 1738 02
HEES BB W/ NI Hith 0.29 0.41 0.54 = 1602 02
165X tEE RET Hih 0.29 0.45 0.63 - 1606 01
HEES BB Al Hih 0.27 0.37 0.47 = 1738 01
165X tEE KHE Hith 0.31 0.36 0.58 - 1648 03
HEES BB XA Hith 0.45 0.65 0.77 = 1555 01
165X tEE A i Rty 0.27 0.41 0.59 - 1693 03
HEES BB ®H Hih 0.30 0.29 0.56 = 1648 01
165X tEE 5 Al FAI7ILE 0.14 0.22 0.29 - 1557 03
HEES BB H 5 A AT FAI7ILE 0.13 0.17 0.31 = 1557 04
165X tEE Bm/A Hih 0.34 0.37 0.58 - 1648 02
HEES BB J\E s Hith 0.22 0.31 0.38 = 1556 01
165X tEE INEh Hih 0.25 0.34 0.45 - 1603 03
HEES BB ME/0d Hih 0.11 0.14 0.61 0.86 1602 01
165X tEE = Hith 0.26 0.36 0.48 - 1603 02
165k |[EBE Rl Eith 0.29 0.35 0.53 - 1649 02
168X 23l T Hith 0.34 0.47 0.74 - 1512 02
165X [BUII T 1§ 0.30 0.44 0.65 - 1560 02
IHEFS ]l ARHI Lzl 0.16 0.23 0.55 - 1512 01
161X ]l =R bR 0.18 0.24 0.44 1.08 1511 01
168X 23l =H Hith 0.31 0.37 0.70 - 1508 03
IHEES ]l AxH Hih 0.34 0.50 0.70 = 1460 03
168X 23l ARH Hith 0.28 0.41 0.60 - 1509 01
165X [BUII #%H Eith 0.22 0.33 0.42 - 1461 04
IEES 23l kS Hith 0.15 0.19 0.53 1.04 1459 04
165X [BUII BHF bR 0.30 0.43 0.55 - 1511 03
IEFS ]l LB Lzl 0.26 0.38 0.51 - 1510 02
165X [BII L& Eih 0.35 0.59 0.85 - 1509 02
IEES 23l A Hih 0.31 0.48 0.68 - 1510 01
165K ]l £H Hih 0.32 042 0.61 = 1509 03
IEES ]l = 1§t 0.15 0.22 0.72 - 1513 02
161X ]l Bz 1§ 0.31 0.42 0.55 - 1511 02
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161X 24l iG] Eih 0.35 0.53 0.79 - 1559 02
IEES pAll +EH F 0.16 0.23 0.64 - 1460 02
161X 24l FIEER Eih 0.32 0.50 0.69 - 1510 03
IEES RiEx HFA FAI7ILE 0.14 0.21 0.32 - 1514 01
IEES KFF HFA FAI7ILE 0.15 0.23 0.40 - 1562 03
IHEES KiFx TR Eith 0.32 0.51 0.65 - 1606 03
IEES KFF THT FAI7ILE 0.15 0.20 0.32 - 1607 02
IHEES KiFx THT L F 0.32 0.54 0.66 1.20 1607 03
161X KFF el Rith 0.34 0.44 0.64 - 1697 01
161X P #HET FAI7ILE 0.16 0.23 0.38 - 1563 03
IEES KFF BE 15 FAI7ILE 0.19 0.29 0.40 - 1607 04
16X | K% /N FAI7ILE 0.17 0.23 0.38 - 1608 03
IEES KFF ARA FAI7ILE 0.13 0.20 0.28 - 1609 03
16X | K& ARA FAI7ILE 0.15 0.22 0.32 - 1609 04
IEES KFF =041 FAI7ILE 0.16 0.21 0.31 - 1609 02
16{§X KiFx Bix FAI7ILE 0.11 0.17 0.30 - 1655 03
IEES KFF i | 0.15 0.25 0.40 - 1560 01
IHEES KiFx i Eith 0.35 0.56 0.79 - 1560 03
161X KFF DES:u Hih 0.33 0.47 0.65 - 1559 03
1615k | X#&F =y FAI7ILE 0.16 0.27 0.36 - 1562 01
IHEES RFF = 4 FAI7ILE 0.20 0.29 043 0.76 1562 02
IHEES KiFx /& FAI7ILE 0.13 0.20 0.26 - 1608 01
1615 % RiHx /& FAI7ILE 0.18 0.39 0.48 - 1608 02
IHEES KiFx BIH 1Rt 0.29 0.39 0.62 - 1699 03
1615k | K& H¥H Eih 0.29 0.40 0.55 - 1561 01
16{§X KiFx H+H Eith 0.33 0.51 0.66 - 1561 03
1615k | K& H¥H 2 0.28 0.41 0.55 - 1561 02
IHEES KiFx r /I R 0.25 0.36 0.46 - 1652 03
1615 % RFF T FAI7ILE 0.14 0.20 0.31 - 1653 02
161§ X KiFx ol 1Rt 0.26 0.36 0.53 - 1699 01
1615 % RFF Bs FAI7ILE 0.15 0.24 0.38 - 1563 04
1615k | K& EB FAI7ILE 0.21 0.30 0.42 - 1654 02
1615 % K% B FAI7ILE 0.21 0.26 0.33 - 1654 03
IHEES KiFx EE FAI7ILE 0.11 0.16 0.21 - 1655 01
1615 % KFF i) Eih 0.33 0.49 0.65 0.81 1606 02
165X RxF EIHAI R 0.32 0.42 0.61 - 1698 02
NEES K% e Ex3:ul 0.28 0.42 0.55 - 1698 03
IHEES RxF FWE R 0.34 0.50 0.66 - 1745 02
IHEES K% EHE avy)—k 0.15 0.19 0.22 - 1654 01
165X RxF I NET BEih 0.24 0.31 0.44 - 1699 02
IHEES K% Bi& T AI7ILE 0.17 0.24 0.31 - 1607 01
IHEES RxF 55 FAI7ILE 0.10 0.38 0.54 0.99 1653 03
IHEES K% B Ex3:ul 0.24 0.37 0.52 - 1746 01
IHEES RxF FRE R 0.27 0.34 0.56 - 1745 01
NEES K% Bl T AI7ILE 0.16 0.25 0.31 - 1514 02
165X RxF A, BEih 0.46 0.61 0.81 - 1652 01
161X K% A Eih 0.53 0.65 0.85 0.89 1652 02
IHEES RxF ARET avy)—k 0.15 0.21 0.28 - 1653 01
IHEES K% g Eih 0.41 0.61 0.80 - 1700 02
165X RxF T Eih 0.42 0.57 0.71 - 1513 03
1615 % RiEx # T AI7ILE 0.24 0.34 047 - 1655 02
165X R 48 R 0.38 0.63 0.83 - 1886 02
IEES TR 5 F 0.57 0.83 0.97 - 1795 02
IEES =] FSE L F 0.32 0.48 0.61 - 1795 03
1615 % TR BEE 12ih 0.42 0.65 0.77 - 1796 01
165X taH HEH Eih 0.40 0.74 0.84 1.09 2065 03
1615 % TR RAR i 0.38 0.63 0.73 - 1839 01
165X R 1Ly / f8 Eih 0.42 0.68 0.93 - 1886 03
1615 % =] B4R Hih 0.42 0.73 0.89 1.64 2070 02
165X =] A Eih 0.57 0.93 1.30 - 1887 01
1615 % =] LR Ex3:ul 0.40 0.70 0.91 - 1841 01
165X =] LR R 0.37 0.66 0.85 - 1841 02
1615 % TR EXIE i 0.50 0.82 1.06 - 2070 01
165X R U=E 1 Eih 0.41 0.61 0.88 - 1840 01
1615 % =] B3R Hith 0.32 0.46 0.56 - 1840 02
161X =] BBIR Eih 0.45 0.60 0.84 - 1840 03
IEES TR R Hifh 1.20 1.31 1.23 - 1886 01
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IHEES Ta AR R 0.15 0.24 0.32 - 1794 03
165X =] JIES 7t 0.59 0.86 1.24 = 1793 01
IHEES Ta PN Hith 0.44 0.56 0.67 - 1793 02
168X =] PN 7ith 0.43 0.55 0.72 = 1793 03
161§ Ta Aih Eih 0.50 0.80 0.98 - 1841 03
168X =] ] 5 0.17 0.25 0.67 1.27 1884 01
161§ T8 REH Hi 0.35 0.56 0.81 - 1885 03
165X TR ZH Hih 0.34 0.49 0.68 - 1747 01
161§ Ta K AR B F 0.32 0.46 0.66 - 1885 01
168X ] RHHEI B 0.27 0.47 0.54 - 1885 02
161§ Ta HTIR Hi 0.35 0.66 0.90 - 2070 03
168X ] g Hih 0.43 0.67 0.86 - 1839 02
161§ Ta NE Hi 0.36 0.53 0.67 - 1839 03




